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P40 minutes 3 Ly Ughus Gaasy (1,9
pikiens fuas A Uhedt @ a8 = (2,4 MN)R+(4.8 MN)P
Af=(420 m)R+(750 m)P Yl J) G5 Syay

(Hint: 1 MN=10"N]

A tugboat pulls a cruise ship for 40 minutes with a force F=(2.4 MN)2+(4.8 MN)?,
moving the ship along a straight path, so it makes displacement of

Ar=(420 m)R+(750 m)y.
[Hint: 1 MN=10*N].

Calculate the net work done by the tugboat. SN ALY I K Sl s '

What is the power of the engine of the tugboat? 13000 & aai i e
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A tow truck Is used to pullup a 1.2x10°kg
car, with constant velocity of 9 m/s on a
rough plane Inclined at 14. 15" with the
horizontal, using a rope. The tenstion force
in the rope Is constant and equals 6394 N,
as shown in the figure.

What is the output power of the tow truck? Tlall) Wal i 0l 50 L

The rope connecting the car with the 0S5 Ladie. a5 el Jay (530 Jaad) adadly '
tow truck breaks when the car is at JaS3 i Y e (32 2.2 m BB ) e 5 g

height of 2.2 m from the ground, the _ ! -
car continues moving for 7.6 m on JJa7.6m A (5 giadl o L a

the inclined survace before it stops at gl 0 4.1 m gl ) o el iy ol 4T

a height of 4.1 m. What is the work o )
done by friction force on the car after 3ay bl o ASEa Y1 8 A0S g3l Jald
the break up? thaiiy!
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Lt Right v

A wooden block Its mass of 0. 25 kg slides horizontally back and forth ona
frictionless surface between two different horizontal springs.

The spring on the left k;-l:m# ,and its maximum compression Is 16 cm, the
spring on the right kz=250 -“L, :

Find the maximum compression (x)of A & 3 Lnialy (x)idse pual 35 ﬂ
the spring on the right.

Calculate the maximum velocity of the wooden i) il yu sl e
block as it moves between the two horizontal i) 0 50 3 a4 s oL

springs.
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A ball of mass 0. 1 kg moving
horizontally with velocity (v,=5 %)=, hits

a vertical wall and rebounds with
velocity(v,= — 3 %)= . The graph shows

| variation of the force acting on the ball
o k=078 | with time during the collision.

Calculate the magnitude of the change in BSUAS ja ApaS b ) lsie Gas)
momentum of the ball.

Find the magnitude of the average force A3 I0 (F )i s g s 39,
(F ..s) acting on the ball in the time (ty) o (ty) On Ak 3 i i3 <)
interval between (t,) to (t,).

/



